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Pi= (ri= pi)/ (1+ pi), si p: Po, ,  Ps po, si
” 9 pi
, P , (2) 0.05< R< P
_ — 0 _ R S
R=0.05 |, ,0=0, R=p S Q= T
0.05< R< P, 1
1 0.05< R< P, (x0,%x1, ,xn) (2) ,  X1q1 = = Xagn
, 0= maxxiqi, Xngn< Q, @ ® 0. 05
Yy oxi= B (3)
2 al> 07 i: 17 2? 2 n; B> 0
J={j x> 0},
1 .
6= y.6= 6 oot/zjoa,
x:: Xn + 61,
xj=x- 6, j I,
xi=xi, j ] j#O,
xo= 1- Zl(n Pi)%s .
N xj 20,085 n
(x(ﬁ,x?, ,xn) ® (3) , ® x;QJ< Q, (x0, 21,
xn) (2) ) 1
1I( ) . R (0.05,0) |, ) @
Q Q ) n
3) ;2 i= 3 ;3 i= ,1< i< noxo= 1- 1
® w0 (3 ) wme () 33 w= S iS mxe= 1= Y
+ pi)xi
) n= 4 )

(1)R: 005 ., X 0= 1,x1: X2= x3= x4= O,Q: 0;
(2)R= 0.27/1.01 ,x0= x2= x3= x4= 0,2:1= 1/1. 01, Q= 0. 025/ 1. 01;

on (o o B R b paos
yam ]({).‘6—(6)3075,960: = 1.0lx = 1.02vo— 1.045x5— 1.065x4
3 _

(2), (D ,

maxR = Z)(ri— pi)xi
xigi < Q, i= 1,2, ,n,
s. t. Z(l+pi)xi: 1,

xi= 0

(4)
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Q. (4 R. Math 0R e
? ? 2
Pi= (ri— pi) /(14 pi), p: s Xi s >
2
2 (x0,%x1, ,%n) (4 , P> PLxi>0, xi= Qg

P> P, xi> 0, xi< Q/qi

€
(xi+ €)gi< Q, €1+ pi) < x;(1+ pj)

xi=xit 6xj =xi— €1+ p) /(14 pj),  k#Fij . xk=awk  xk20,
Zmi(n pi)= Z_x:(1+ pi) + (xi+ @(1+ pi) +
/ i
[xj— & l+ p)/(1+ pj)](1+ pj) =1,

n

zoxx(rk— pr)= }Zﬁfx}t(rk— pr) + (xi+ €(ri— pi) +

[xj— €1+ pi)/(1+ pj)](ri— pj) > Zoxk(rk— pr)

,(xo,x1, ,xn) (4 , 2
, p: , b k xkqk= (),
R p: s 0, , Q s
n= 4 ., P> D> Ps> P> o, cl,
Cc2, C3, c4
ci= q/(1+ p1) = 0.024 750

C|(1+ pl): qi,
x1= c2f g1, x2= c2/ g2,

2= q@g2[(1+ prygz+ (1+ p2)qi] = 0.009 225

xi(l+ p)+ x2(1+ p2)=1,

cs= qqqs/[(1+ p)geqgz+ (1+ p2)qugs+ (1+ p3)qig2] = 0.007 849,
c4= q1q2q3q4/[( 1+ pl)q2q3q4+ (1+ pz)qlq3q4+ (1+ p3)qlq2q4+ (1+ p4)qlq2q3]= 0. 005 940

(b
Q-R 5 , , N )
n , QR n+ 1
4 _
max R/ ()
Zo(1+ pi)xi= 1, (5)
s.t -

xi2 0

=xn—0 ,R/Q_"l'ooy ’
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1 =4
Table 1 Best solution for n= 4
X1 X2 X3 X4 X0
Q= 0.000 000 0 0 0 0 1
Q 0 Q Q -
0< Q< 0.005 940 p s s p 1- ,Zl( 1+ po)
9 0 Q d
0.005 940< (< 0.007 849 & - e U= Y (epgrdi(1epy O
Q Q :
0.007 849< (< 0.009 225 " = - ;(H b/ (15 5y 0 0
0.009 225< (< 0. 024 750 3—1 [1= (14 pyxil/(1+ p2) O 0 0
1
Q> 0.024 750 ", 0 0 0 0
; p(0s ps 1y,
max[ (1 - w)R - py]
n
xi(l+ pi) =1
2, ’ (6)
s- L. xigp< y, 1= 1,2, ,n,
xi=2 0, 1=20,1, ,n
[5]
2
2
2
T able 2 Results of calculation
H X0 X1 X2 X3 X4
1. 000 1 0 0 0 0
(0. 825, 1. 000) 0 0.237 6 0.396 0 0.108 0 0.228 4
(0. 810, 0. 825) 0 0.314 0 0.523 3 0.142 7 0
(0.766, 0. 810) 0 0.369 0 0.6150 0 0
(0. 000, 0. 766) 0 0.991 0 0 0 0
(1 , ) []. ,1999.29(1):19 24
[2] . . . [(M]. , 1990
[3] JP. [M]. . 1986
[4] [M]. , 1990
[5] ) [M]. , 1997
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ON THE ISSUES OF TEST PAPER A OF CMCM-98

Jiang Zhifang

(Department of Basic Courses, Nanjing Audit Institute, Nanjing 210029)

Abstract: CM CM -98 Contest Question A has given rise to much controversy. For example, is
riskprofit curve a broken line? If so, how many sections should it be divided into? Is it proper
to use the maximum profit—risk model? What’s the correct answer to preference coefficient
model? This thesis is meant to find out an all-inclusive solution to CM CM 98 Contest Ques—

tion A and disscuss the above questions in detail.

Key words: mathematical model, best solution, risk, profit



